Lampiran 4 :
Perhitungan ES(L'), LC(i), ES(]), LC(]) secara manual .

ESy =0
ES; =ESy+Dpy =0+7=7
ES; =ES;+D,3=7+5=12
ES; = ES, + Dy3 =12+ 10 = 22
ES, =ES3+ D3, =22+5=27
ESs = max{ES, + D5 ; ES; + D;5} = max{27 + 20;39 + 0} = 47
ESe = ESy+ Dyg =27 +5= 32
ES; =ES, + Dy, = 27 + 15 = 42
ESg = ESs + Dgg = 47 + 1 = 48
ESy = ESg + Dgy = 48 + 35 = 83
ESyo = ESg + Dg10 = 32+ 60 = 92
ES;; = ESg+ Dg;, = 48 + 30 = 78
ESy; = ESg+ Dgq, = 48+ 10 = 58
ES;3 = max{ESy + Do,y3 ; ES1o + D135 ES11 + Di1as}
=max{83 + 50;92 + 0; 78 + 0} = 133
ES;, = max{ES;3 + Di314; ESze + Dyopa} = {133 + 60; 153 + 2} = 193
ES;s = ESy3 + Dyp15 = 58 + 20 = 78
ESy6 = ESy5 + Dys16 = 78 + 15 = 93
ESy; = ES;g + Dyg17 =93 +2 =95
ESig = ESy7 + Dy715 =954+ 1=96
ES;g = ESig + Dig10 = 96 + 1 =97
ES;o = ESyo + Dygp0 = 97 + 7 = 104
ESy; = ESyq + Dygoq = 104 + 14 = 118
ESy; = ESy1 + D31 05 = 118+ 2 = 120
ESy3 = ESyy + Dppa3 = 120+ 1 =121
ESy4 = ESy3 + Dayzpq = 121+ 1 =122
ESy5 = ESyy + Dyyos = 122 + 21 = 143
ESy6 = ESys + Dag 06 = 143 + 10 = 153
ESy; = ESy4 + Dy4p7 = 193 + 20 = 213
ESyg = max{ESy4 + Di42s; ESa7 + Dy726) = max{193 + 18;213 + 0} = 213
ES,o = max{ESy4 + Di429; ESyg + Dyg e} = max{193 + 15;213 + 0} = 213
ES3o = max{ESy4 + D430 ; ESz9 + Dyg30} = max{193 + 10;213 + 0} = 213
ESs;; = max{ESy4 + Di431; ESso + D331} = max{193 + 8;213 + 0} = 213
ES3, = maX{ESM- + Di432; ES3q + D3q32 5 ES33 + D33,32}
= max{193 + 5;213 + 0; 195 + 0} = 213



ESs;3 = max{ESy4 + Di433; ESsq + D333} = max{193 + 2;195 + 0} = 195
ES34 = ESy4 + Dy434 = 19342 =195
ES35s = ES3p + Dyp35 =213+ 1 =214
ES36 = ES3s5 + D3536 = 214 + 1 = 215
ES3; = ES36 + D3g37 = 215+ 1 = 216
ES3g = ES36 + D3g3s = 215+ 1 = 216
ES39 = ES3g + D3g30 = 216+ 2 = 218
ES4o = max{ESs; + D374 ; ES3g + D3940} = max{216 + 1;218 + 0} = 218
ES41 = ESao + Dygur = 218 + 1 = 219
ES4; = ESy1 + Dyy4p =219+ 1 = 220

LCyp = ES4y = 220
LCyy = LCyy — D4y 47 = 220 — 1 =219
LCyo = LCyy —Dyo4q =219 —-1=218
LC39 = LCyy — D3940 = 218 — 0 = 218
LC3g = LC39 — D3g39 = 218 — 2 = 216
LC37 = LCyg — D374 = 218 — 1 = 217
LC36 = min {LC3g — D338; LC37 — D337} = min {216 — 1;217 — 1} = 215
LC35 = LC3¢ — D353 = 215 —1 = 214
LC34 = LC33 — D3433 = 213 — 0 = 213
LC33 = LC3y — D333, = 213 — 0 = 213
LC3y = LC35 — D3p35 = 214 — 1 =213
LC3q = LC3y — D313, = 213 — 0 = 213
LC30 = LC31 — D3g31 = 213 — 0 =213
LCy9 = LC39 — Dyg30 = 213 — 0 = 213
LCyg = LCy9 — Dygpo = 213 — 0 = 213
LCy; = LCyg — Dy72¢ = 213 — 0 =213
LCy6 = LCyy — D1406 = 193 —2 =191
LCys = LCy6 — Dys 56 = 191 — 10 = 181
LCy4 = LCys — Dggps = 181 — 21 = 160
LC23 — LC24 - D23,24 =160—1= 159
LCy = LCy3 — D333 = 159 —1 =158
LC21 N LC22 - D21,22 =158—-2 =156
LCyo = LCy1 — Dygp1 = 156 — 14 = 142
LCyg = LCyo — Dygop = 142 —7 = 135
LCig = LCig — D1g19 = 135—1 =134
LCy7 = LCyg — D175 = 134 — 1 =133
LCi = LCy7 — Dygp7 =133 -2 =131
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LCy;5 = LCyg — Dy516 =131 —15 =116
LCy4 = min {LCy7 — D14,27; LCog — D14,285 LC29 = D14,29; LC30 — D14,30;
LC31 — Dy4 315 LC3p = D1432; LC33 — D14 335 LC34 — D14 34}
= min{213 — 20;213 — 18;213 — 15;213 — 10; 213 — 8;213 - 5;
213 —2;213 -2} =193
LCi3 = LCiqy — D1314 = 193 — 60 = 133
LCy; = LCys — D345 = 116 — 20 = 96
LCyy = LCy3 — Dy143 = 133 -0 =133
LCyg = LCy3 — Dy1py3 = 133 -0 =133
LCy = LCy3 — Dy 13 =133 —50 =83
LCg = min{LCg — Dgg; LCyy — Dg11;LCy5 — D8,12}
= min{83 — 35; 133 — 28;96 — 8} = 48
LC; = LCs —Ds; =47 — 0 = 47
LCs = LCyp — Dgqo = 133 —60 =73
LCs = LCg —Dsg =48 — 1 =47

LC4 = min {LCS — D4'5; LC6 — D4,6; LC7 = D4"7}
— min {47 — 20; 76 — 5; 47 — 15} = 27
LC3 =LC4,_D3,4 =27_5 =22

LC,=LCs—Dysy =22 —10 =12
LC,=LC,—Dy,=12—-5=7
LCOZLcl_D0'1=7_7=O
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